Workout

Question 1:
1st flip 2nd flip outcome
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(a) 0.25
(b) 0.25
(c) 0.75
Question 2:
Matt Thomas outcome
07 Score SS
0.6 Score
' 0.3 Miss
0.7 Score
s Miss
0.3 Miss
(a) 0.12
(b) 0.46

(c) 0.58

probability
05x05=0.25

05x05=0.25
05x05=0.25

05x05=0.25

probability
0.7 x 0.6 = 0.42

sm 0.6 x03=0.18
MS 04 x07=0.28

mm 04 x0.3=0.12



Question 3: (a)

Megan Rosie outcome probability
0.7 _ Pass PP 0.8 x0.7=0.56
0.8 Pass <
0.3Nri PF 08x03=024
0.7~ P FP  02x07=0.14
02 Fail <
0.3 ™ Fail FF  0.2x0.3=0.06
(b) 0.56
(c) 0.14
(d) 0.94
Question 4: (a)
Teddy Grabber Penny Drop  outcome probability
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% Win < 3
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(b) 6/15 (2/5)

(c) 7/15



Question 5: (a)

1st Sweet 2nd Sweet
d Lemon
9
§ Lemon
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5 Strawberry
kel Lemon
4
9 Strawberry
4
9 Strawberry
(b) 25/81
(c) 40/81
(d) 16/81
Question 6: (a)
Monday Tuesday outcome
0.1 Late L)
0.1 Late On
0.9 Time LO
01 Late OL
0.9 On
Time -
n
0.9 Time 00

(b) 0.81
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probability
0.1x 0.1=0.01
0.1 x 0.9 =0.09
09x 0.1=0.09
09x 09=0.81



Question 7(a) :

crossword Sudoku outcome probability

0.6 v vv/ 03x06=018

03 v
QD v o03xo04:-012

0.4
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(b) 36 days

Apply
Question 1(a)

Weather Target outcome probability

035  Hit WH 0.2 x0.35=0.07

02 Windy
' 065 Miss WM  0.2x065=013
0g ~ Hit  CH 0.8 x 0.8 = 0.64
0.8 Calm
02 “Miss CM 0.8 x0.2=0.16
(b) 0.71

Question 2: 0.51
Question 3: (a) x=0.125 (b) 0.765625



Question 4: (a)

Freddie Martha outcome probability

0 "™ 00 09x08=072

On Time

0.9
0.2 Late  OL 09x0.2=0.18

On Time LO 0.1x0.8=0.08

0.8
0.1 Late
02 Nate LWL 0.1x0.2 = 0.02
(b) 0.02
Question 5: (a)
Final exam Retake
) Pass
1 3 Pass
3 .
Fail
1
. Fail

(b) 23/24



Question 6(a):

1st Counter 2nd Counter
6 Green
9
Green
10
White
Green
3 i
0 White
White
(b) 42/90 (7/15)
(c) 48/90 (8/15)
Question 7(a)
Ball Coin
1 Tails
2
2 White
5 1
2 Heads
1 .
" § TGIIS
5 Black
7
3 Heads

(b) 11/40 (0.275)



Question 8(a)

2 —z—72=0
(b) x=9
(c) 5/12



